
 

 

 ) نمودار توابع زیر را حل کنید . مثال

) [ ]24 y x=        ) 225 2y x x = −   

 
) 326 3y x x = −        ) [ ] ( )27 sin ; 0 2y x x π= ≤ ≤  

 
) 228 4y x = −        ) 229 4 4y x x = − +   

 

) 130
4

y
x

 
=  − 

      )31 2 xy − =    

 

) ( )232 log 4y x = −       ) [ ]33 log siny x=  

 

)34 siny x=          ) [ ]35 siny x x= +  

 

) [ ]36 siny x x=       ) sin37 2 xy  =    

 
)38 tany x=          )39 tany x=     

 

) 140 y
x

 
=  
 

       )41 2 3y x= − − +       

 
 


